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QUESTION 1

An organization is running a Nutanix Cluster based on AOS 5.10.x and VMware vSphere 6.7. Currently, the CVM
network is segmented and Storage only nodes not present.

A new security project based on NSX is coming. VMware Distributed Virtual Switches are required. The administrator
needs to prepare the environment for the new project.

Which step should the administrator use to initiate the project?
A. Enable Nutanix Flow at the Prism Central Level

B. Manually disable CVM network Segmentation

C. Convert storage only nodes into vSphere nodes

D. Enable Jumbo Frames to accommodate network frames

Correct Answer: D

QUESTION 2

A customer has a primary datacenter with 12 Nutanix blocks distributed across three racks. The customer wants to
achieve the most resiliency possible. They also have a datacenter in a branch office that is 400 kilometers away from
the primary datacenter.

Which two solutions should be used? (Choose two.)

A. Time Stream to a remote site

B. Async DR to a remote site

C. Rack awareness

D. Block awareness

Correct Answer: BC

QUESTION 3

An administrator finds that home shares cannot be configured in a new Files 3.5 deployment. Why is this happening?
A. NFS default access is set to Read Only.

B. Multi-protocol access is not configured.

C. Access Based Enumeration is not enabled.

D. The system is deployed as a single FSVM.

Correct Answer: D
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QUESTION 4

An administrator migrates a VM onto a new Nutanix cluster. After the migration, the administrator observes the following
conditions:

1.

Cluster memory utilization: 64%

2.

Cluster CPU utilization: 19%

3.

Cluster storage utilization: 32%

4,

Average VM CPU utilization: 25%

5.

Average VM CPU ready%: 24%

6.

Average VM memory utilization: 60%

Which two changes should the administrator make to improve VM performance? (Choose two.)
A. Add more memory to the VMs.

B. Reduce the number of vCPUs assigned to VMs.

C. Replace high core count CPUs with high clock rate CPUs. (also can be but is physical invas)
D. Reduce the number of VMs on the hosts.

Correct Answer: BD

ref http://www.joshodgers.com/tag/cpu-ready/

QUESTION 5

An administrator is deploying several new application VMs to a Nutanix cluster. The application is very transactional with
a 28/72 random, read/write ratio. What should the administrator do?

A. Add a minimum of four SSDs to each node to ensure all writes go to the SSDs.
B. Add a minimum of four virtual disks to each VM, and aggregate them on guest OS level.

C. Add one large SSD to each node and enable Flash Mode for the VMs.
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D. Add one large virtual disk to each VM. and use it for all application data.
Correct Answer: B

Ref: https://next.nutanix.com/server-virtualization-27/iops-latency-issue-1168
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